Section 1.6 – Division of Real Numbers
RULE FOR DIVISION OF REAL NUMBERS


a)
Divide the absolute values


b)
If the signs are the same, the answer is positive


c)
If the signs are different, the answer is negative

NOTE:
For any real nonzero number a,  
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For any real number a,  
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  is not defined.

Ex 1:
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Definition:  Two numbers whose product is 1 are called ______________________, or multiplicative inverses, of each other.

NOTE:  For 
[image: image4.wmf],

0

a

¹

  the reciprocal of 
[image: image5.wmf]a

1

is

a

.


    The reciprocal of a nonzero number  
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Ex 2:
Find the reciprocal of each number.
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Caution:  Don’t confuse opposite with reciprocal.

Ex 3:   Fill in the chart

	Number
	Opposite
	Reciprocal

	2
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NOTE:   For any real numbers a and b, 
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Ex 4:
Rewrite the division as a multiplication.
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Ex 5:
Divide
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NOTE:  For any numbers a and b, 
[image: image12.wmf]:

0

b

¹



[image: image13.wmf]b

a

b

a

b

a

and

b

a

b

a

-

=

-

=

-

=

-

-




Ex 6:
The population in a small, mid-western town was 3,500.  Seven years later the population was 1,890.  If the population decreased at a constant rate, by how many people did it decline each year?

Ex 7:
During a chemical reaction, the temperature in the beaker decreased every minute by the same number of degrees.  The temperature was 
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 at 2:45 p.m.  By 3:07 p.m. the temperature was 
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.  By how many degrees did it change each minute?
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Ex 8:
The cost of an HP computer rose from $875 to $927.50 in 6 months.  What was the percent increase in price?
_1146553609.unknown

_1146555228.unknown

_1212252023.unknown

_1212252374.unknown

_1212252540.unknown

_1212252171.unknown

_1146555513.unknown

_1146555516.unknown

_1146555291.unknown

_1146553941.unknown

_1146554175.unknown

_1146553640.unknown

_1146552931.unknown

_1146553585.unknown

_1146553505.unknown

_1146552886.unknown

